SUVAT Practice
Practice using v = u + at

1.  A car moving at 10 m s-1 accelerates at 2 m s-2 uniformly for 5 s.  Calculate its velocity after this time.

2.  A runner increases her speed from 5 m s-1 to 8 m s-1 in a time of 2 s.  What is her acceleration?
3.  An object travels at 2 m s-1 and then accelerates at 4 m s-2, if its final speed is 18 m s-1 how long did that take?

Practice using s = (u + v) * t  ( or average speed = s/t)
    2
4.  An object with uniform acceleration starts at 15 m s-1 and ends at 25 m s-1.  How far does it travel in 10 s?
5.  A snail accelerates uniformly from 1 mm s-1 to 2 mm s-1 as it travels a distance of 30 mm. How long does its journey take? 

6.  A driver sees the traffic lights turn red when he is 200 m from a junction. He immediately applies the brakes and decelerates steadily to rest in a time of 25 s. What speed was he travelling at? 
Practice using s = ut + ½ at2
7.  A Physics teacher drops a bouncy ball from rest onto the floor to illustrate the effect of gravity.  It hits the ground after 1/2 s.  If the acceleration due to gravity is 9.8 m s-2 how high was the ball dropped from?

8.  A plane comes in to land at a velocity of 92 m s-1 and decelerates uniformly at 4 m s-2 for 23 s.  What distance does it travel?

9.  A child drops a coin from the top of a tower 19.6 m high. Assuming the initial velocity was zero, how long would it take it to reach the ground? Take the acceleration due to gravity as 9.8 m s-2.
Practice using v2 = u2 + 2as
10. An object is dropped from the roof of a tower block 80 m high. If the acceleration due to gravity is 9.8 m s-2 calculate its speed just before it hits the ground.

11. A ball is thrown upwards with a velocity of 10 m s-1. Calculate how far it travels to its highest point (hint; where it stops) if the acceleration due to gravity is 9.8 m s-2.

12. A car accelerates uniformly from rest for a distance of 144 m to a velocity of 24 m s-1.  What is its acceleration?
You choose!
· For these questions you need to select the best ‘suvat’ equation to use. 
· There will usually be more than one solution, but some methods may require more than one equation.

· Where necessary take the acceleration due to gravity to be 9.8 m s-2.
13. A high speed train accelerates from 50 ms-1 to 80 ms-1 in 1 minute.  What is its acceleration?

14. A stone is dropped from a harbour wall.  The splash is heard after 1.5 s.  How far did it fall to the water?

15. The ‘Stealth’ rollercoaster accelerates from a standing start at 20 m s-2 over a distance of 32 m.  What speed does it reach?
16. An object is dropped from a helicopter at a height of 122 m above the ground.  Ignoring air resistance, how long will it take to fall?

17. A boy stands on the edge of a cliff and throws a stone upwards with a velocity of 6 m s-1 so that it eventually lands in the sea below. What is its displacement from the starting point after (a) 1 s (b) 2 s and (c) 3 s.
